1134 £ EHwEHTHE & 31 gy i
-~ H-F84 (FH254£004)
1L (B) > i@g= &2 Tawie T g g pdpIR?
(A)pwrsbe (B)pwrdes (C)twde (D)p v~ hugrdge .
2.(A) Bk a~b 5 o RITIPE G HEK?
(A)4 (a+1) =3 (B)2(2b—1) (C)12a—8 (D) 46b+54 -

3.(B) 4® > LABD=/DCA> £1=,2>* AD=3>CD=4>BC =58 AB=7?

(A)3 (B)4 (C)5 (D)mz4a18 - &

4.(C) 4c®l PR LABC 4 T L F¢h- 8> PM LAB > PN LBC » % BP=13-* BM
(A)3 (B)4 (C)s (D)6-

A
M,
L
P
B
N
5.(C) Trllp¥ - L HaEL = &Ajhpm?

(A)the (BIPw~shs (C)pw e (D)he s oo
6. (C) 4B > G 5 AABC € s » FAABC hm ff 5 36 L 2 QA\’E'J#EQ%‘K/}%&:}%%\?")E%
(A)12 (B)15 (C)18 (D)21-

AN
A
%%i
B D C
7.(A) F5x:3y:2z=15:21:16> Rlx:y:iz=7?

(A)3:7:8 (B)2:5:3 (C)20:12:15 (D)4:9:10-

8. (B) 4@ » O 5 AABC b » £ L A=55"» B LBOC= ?
A
(‘.&

9.(C) 4@ > A4ABC*® > DE//BC » % BD=8> AE=15> CE=10- ] AD = ?

:12’ EIIJ PN:

B

(A)100° (B)110° (C)120° (D) 130°

(A)9 (B)10 (C)12 (D)20- B c



10(B) Qﬁ'\."‘A\Bé_:E:%ﬂLIJ ’C‘Dé—iéﬁin ’E‘Eﬁ—ig&éﬁ‘yf E:ﬁ,

il
m

CE » 4B *t7

FE I ERL//ER L -

TG g AT AR
%M NAEB 4 /\DEC *#

‘*AE =DE » BE=CE » LAEB=/CED ($F &4p %)

*.\AEB = A\DEC ( FEET)
% /BAE= /CDE = % % Li//% % L» ( )
LB BT ha B RE N AR D
A B
g
e

(A)AAS > P42 44a% (B)SAS  pAatsdnd (C)AAS  kRIp 434 (D)SAS F
RN &5
11. (C) 4Bl > = *wAABC 53 % &= 425> £C=90" » Bl 5| 4cit in ¥ 1 F ?

/

B

A

C
(A) BC #2458 (B) AC &A% (C) BC #2403 (D) F ¥ & o
12. (B) 4@ > » i#3, ABCD &+ >35> A8t L+ > DE LL> BF LL> =8 A %4 E~Fa g ¥

AE # AF R 7 ot o K 3R 0

\11,;“

(A) 224+ ,3=90° (B)s1=,4 (C)AADE=/BAF (D) DE = AF -



13. (D) W E- BE 5 8~ %5 6483 o -k > T FR- BEIF P BN E G BFE 4022 (93

AR )

(A) 10 (B) (C) (D)

/
8 5 4

14. (C) KRAABC~ADEF » ¥ £ZA=50" > £F=70" > RI™ 7| F & 52 7
(A)«B=70° (B)ZE=50°" (C)zC=70° (D)«D=60° -

15. (D) 4@ > AB 22BC 52 Flt4p3 €2 ehd 32> L % AB ¢hv L& > M 5 BC ¢ L5 - % AB

=125 BC =20 BIALAINA ch ff 5 § 4T H (=9

(A)20 (B)30 (C)50 (D)60-

16. (C) 4Bl > G 5 ANABC ¢éhd .~ » % AF =17> CD=18 > BE =19 > #| GD+GE +GF =
A

(A)1l6 (B)17 (C)18 (D)19-

17.(B) #%#% 3 7 - BASL 1824 hE 4= 475 FUGEENNE &= £ R Pl B3
Fhaos L EEER?
(A)10 (B)9 (C)8 (D)7-

18. (D) 4-§ » £+ 25 8 SE6 oA HY A ABL e AP S X g plhd R
Beg fEs 5T A0
A4
A\
6
S/P

(BN )
(A) (48—327) T= 24 (B) (48—167) T= 24 (C) (48—187) T= 24
(D) (48—97 ) T3 =>4 o



10. (C) 4Bl > O 3l » 2 £1590° » Bl &gt 259 457 5|7 7]vi— 46§17 2
1
/“\O

(A)Es=z47 (B)¥%=42) (CHF%E =47, (D)EF -

20. (A) 4c® » AD ~ BE & AABC 1 ¢ &> FABGD & #f =2 T 2 24 > RIAACD hd = ?

(A)6T=>2a (B)7T=32kh (C)8T324 (D)9T=2n
21. (B) 4c®) > AB 2 E /5> BP 34k > AP 2 FI** C8 > % BP=15> CP=9> AC =16 B/

e S L I

(A)5 (B)10 (C)15 (D)20-

22. (D) Bl EMRLEFOW>> A8 ¢ wFOchLjssi 7 OB=14> B AB =7

(A)7 (B)14 (C)742 (D)743 -

23.(B) = d4r— G f i 16 T3 A4 0 BIEL 24 08 PR EESR &5 5 R D
(A)10° (B)40" (C)80° (D)120" -

24. (B) 4ol > - BEF#H3hz &4 % > B9 BD=2724 7 BD 5 AC v &> FRER

PG HAE Y o IR O BIED B G D 2 A 0
A

B C
(A)6 (B)9 (C)12 (D) 18-
25. (D) #— Bz & Mpch= F L2 B > FA S - BATHZ £7) 0§ MiEs B A0 > T A
o H 3R ?
(A)ad =425 (B)A=4Vea A A=z 4Va 4R (CHFM= 8L LRz
b B2 (D)X 405 Bp &2 R 4553 BN £2 8 o




26. (D) e wx~y~z¥ 3 EN0 8 2x=y 3x=2z > Plxiyiz=7?
(A)1:1:1 (B)1:2:3 (C)2:2:3 (D)2:4:35

27. (A) 4B > D~E » %2 AABC* AB ~ AC ¢h® 2> % BE -~ CD 482> F > Blw #7) ADFE &

A

B C
(A)1:1 (B)2:3 (C)3:4 (D)4:5-

28. (D) %”—l}ﬂ\iﬁé 367[*1"%2/&’E'JT%JTF’—‘F*]‘Z?E‘E{LLJF]#J%QTE?
(A6 =4 (B)8=& (CH12=24 (D)15 =24

o

29. (B) 4% > AABC 5 %"= 475> 7 AD % BC th? £ -G AD + ¥ AG : GD=2:1 %

-

AB=13> BC =10 BI|AAGC thé 4 5 5 > T > H = ?
A

G

B
(A)10 (B)20 (C)30 (D)60-
0. (B) BAFFEREw P Fair TMbr FécreoFab=4:33a=2 %% 778
R Vs o U S e
(A)a:bic=4:3:2 (B)¥ixFi 124w p% (C)pdxii36imm (D)
AEFISATE o

31.(D) 4B » PR LABCh& T A&+ »» PM LAB » PN LBC » % BP =20 BM =16 B|

D C

PN =7

MA

X
v,

(A)18 (B)l16 (C)14 (D)12-



32.(C) 4rH“i% » AB ¥2 CD 2* E» % AE=5> AB=11> CE=10> CD=13> AD =7 | BC

A
}D
C B

(A)12 (B)13 (C)H14 (D)15-

=9

33.(C) 4B > BD 4 Oz js > 5% AC AR~ O 7T 7w~ 4ot £0 m8en? (93,488
I)

ff\
B

C
(A) O ZANPCD stb e (B) O ZANAPD envbe (C) O ENACD 0%k (D) O EN

BCP b s o
34.(D) 4Bl > ADEF = &~ 5|5 468> F L ER AL - B2 &)= F & > AT HRFEAN

DEF % fp i1 ?
D
ﬁ
E 5 y

(A)2~3-4 (B)08~12~16 (C)5~75~10 (D)52-72-~96-

35.(C) e arathic=1:3:5 PI7 slcif o H 4538 7
(Ada:b=1:3 (B) (a+b) : (a+tc) =2:3 (Cla: (b+tc) =8:1 (D) (a+
b) : (b+c) : (a+tc) =2:4:3-

36. (C) 4B > = >33 ABCD * > DE=CF > AE % DF * G 2> B| T 5|vi— @ik L4507

A D
G/E
B o C

(ADAADE=/DCF (B) AE L DF (C) AF =DF (D)ADGE~AADE -



s LEBHE-VE (F82546 0 £ 104)
1. 4ol > T Fw 3, 4BCD ¥ > 0 5 ¥ 45 AC ~ BDeh2 8> E 5 BCe¥ 8> £BD =18 &

oG -
[z]
LER T Ee eI T A
.Ez_Dle_zlxlszm
2 2

ANABC # > O~E » 1% AC ~ BC 1@ 2k >

G E\!:';; AABC l—’f’lﬁ‘_ NN

2 FlOF-5% AB el ASa5 19 - Mgl ¥ - A4 B 0 B ¥ 58 or i ehf]

& LAOB= 7

GED!
LEF 1 &-3"ax " ply-5m35 4" (x#0)
x " +4x"=360" > x=72
Cy R b =720

F 72
3. WiTHFlde e oy o X g8 ITIEE BRI SE B 601712 dok X G
BRHZ - A28 BRRSRER 5 750 2z Rlfge > Al#7r7 mﬁl}ﬂifé_ e

[iz]

1.8% 160 =5

fEdg : (f#- )

”‘ii@f‘ﬁ]’ﬁ 6r = 5 0 Arigfen 17r = P
A 6r+17r+2r=750

VG 2r AR 0 rA£0 -

PR R
25r=1750
r=30 A0tz FlE £ £.2x30=60 ( = %)
g
Fla € fE AR el £ 601712
2 =60 ( =5

st T E B =750
R 611712



4 4o > B FFIANEEYCEED o 5 A 26 2% i - BB HEF > FHfrEF MG - REE

CD>»* A~C~Ez8itk-24H > 2AB=162%>CD=312%>BD :DF=5:8">

EE N
GED!
/E
.
| 5L H
DI.G
I
B F
.".CD//EF >
4 /AAEH 7 >
*"CG//EH >

5:13= (3.1—1.6) : EH

EH =39

FlEF =1.6+3.9=55">

BBEEEF =55 (22 ) o



